[ENG]

Failure to read, thoroughly understand, and follow all instructions can result in
serious personal injury, damage to equipment, or voidling of factory warranty.

INSTRUCTIONS OF SAFETY AND WARNINGS:

1. Make sure that the mounting surface is strong enough to handle a mounted product and equipment
2. DO NOT EXCEED THE MAXIMUM LISTED WEIGHT CAPACITY
3. Always use an assistant or a mechanical lifting device to safely lift and position heavy products

4. Tighten screws firmly, but do not over tighten. Over tightening can cause product damage that greatly
reduce the holding power

5. Keep a clear area and distance from moving parts when using the product
6. Use only as intended. Never stand, hang or climb on the product

7. This product is intended for indoor use only.

8. Any attempts to reconstruct the construction aren't allowed

9. This product may contain small items that could be a choking hazard if swallowed.
Keep children away unless the product is intended for their use and all instructions and
manuals are fully reviewed and understood by them

10. Check that the product is secure and safe to use at regular intervals (at least every three months)

*Instructions are provided by HyperWork Vietnam, if you discover errors
Please contact us via website https://hyperwork.vn/

Made in China [ Imported and Distributed by 3HVN JSC

Instruction Manual

HYPERWORK P1 DUAL

HPW - DPA0125

2 [z &
N
Weight Capacity VESA Compatible Fit Screen Size
2~9kg | 4.4~19,8lbs 75x75 | 100x100 17 inch ~ 32 inch
J

CAUTION: Do not refease the monitor
immediately after hanging and wait
until you are sure it is stable in its
position to prevent injury to personne/
or equipment. If the arm rises or falls,
refer to the next step for adjustment.

Before adjusting the spring tension

and during the adjustment process,

position and hold the arm

horizontally as shown. Use the

supplied Allen Key for adjustment.

Ask for assistance should you
> require it.

If the arm drops, turn the
adjustment screw in the
+ direction until it remains

_ W‘ in a horizontal position.
v If the arm rises, turn the
adjustment screw in the
- direction until it remains

in a horizontal position.

CAUTION: DO NOT over
tighten the screws.

Note: If the display does not
stop at your desired position,
adjust the screws using the
tools as shown.

CAUTION:
A DO NOT rotate the monitor

past rear edge of desk to
avoid an unstable situation
that may cause tipping.




N
A (x1) B (x2) C (x2) N (x1) O (x8) P (x8) Q (x1) R (x1) S (x1)
M10x20 M4x12 D5 4mm 5mm(Long Type) 6mm(Long Type)
) e N
2 For 10~45mm thickness desks
CLAMP
INSTALLATION
for 10~-85mm
thickness desks
(A)

(F}
1 o GROMMET
INSTALLATION
for 10~40mm
thickness desks
Q with @10~60mm

installation holes

If the VESA panel is too tight
to tilt, loosen the screw with
L a hex key.




[VIE]

Viéc khéng doc, hiéu ky va lam theo tt ca cac hudng dan cé thé dan dén
thuong tich ca nhan nghiém trong, hu hdng thiét bi hodc lam mat hiéu luc bao hanh

HUGNG DAN AN TOAN VA CANH BAO:

1. D&m bao rang bé méat ldp dat di chac chan dé c6 thé nang d& Arm va man hinh dudc gén
2. KHONG TREO MAN HINH QUA TAI TRONG CHO PHEP

3. Nén c6 ngudi hd trg trong qua trinh l&p dat

4. Siét chat cac vit nhung khong siét qua chat. Siét qua chat cé thé gay hu héng, gidm siic
gil man hinh

5. Gitf khu vuc théng thodng va khodng céch véi cac bé phan chuyén dong khi st dung Arm
6. Khéng dung, treo lén Arm man hinh

7. S&n pham nay chi danh cho sir dung trong nha

8. Khi lap d3t san pham, nén luu dat cac phu kién nhu 8c, vit trdnh xa tam tay tré em, vat nhé
c6 thé gay nghet thd néu nuét phai

9. Kiém tra xem Arm c6 chic chén va an toan dé st dung dinh ky khong (it nhat ba thang mot [4n)

*Tai liéu hudng dan dudc cung cap bdi HyperWork Viét Nam, néu ban phat hién ra sai sét
vui long lién hé ching t6i qua website https://hyperwork.vn/

Made in China [ Imported and Distributed by 3HVN JSC

Hudng dan lap dat

HYPERWORK P1 DUAL

HPW - DPA0125

[scanme |

=
Al

TUTORIAL VIDEO
1
NYaONDAHO3aIA

[=

Tai trong cho phép
2~9kg | 4.4~19,8lbs

Chuan VESA
75x75 | 100x100

Hb trg man hinh

17 inch ~ 32 inch

THAN TRONG: Khéng tha tay khoi man hinh
ngay sau khi l&p va dgi cho dén khi ban chic
chan réng man hinh da & ddng vi tri dé trénh
gdy thuang tich cho ngudi hodc thiét bi.

CACH CHiNH TRG LUC CUA ARM:

Dé chinh trg luc nang ha man hinh, hay
dung dung cu dugdc cung cdp va thao tac
theo hinh anh minh hoa bén trai

Né&u man hinh bj ha xuéng,
xoay vit theo diu “+” cho
téi khi Arm gilt nguyén
dugc & vi tri ndm ngang

- (ﬁ; + can bing.

S

A

N&u man hinh bi nang (é&n,
hay xoay ngugc chiéu theo
dau “-"

THAN TRONG: Khong siét vit
qua chat

y <)
By

Luu y: Néu man hinh khéng diing
G vi tri ban mong muén, hdy diéu
chinh béng céch siét hodc nha 6c
nhu hinh minh hoa

Nl )
G =]
r :
|

THAN TRONG: KHONG xoay
A man hinh qua mép sau cta ban

dé tranh tinh trang mat can

béng cé thé gay L4t man hinh.




N
A (x1) B (x2) C (x2) N (xD O (x8)
M10x20 M4x12 5mm(Long Type) 6mm(Long Type)
) e
2 Danh cho ban c6 do day tir 10~45mm
LAP DAT
KIEU KEP BAN
cho ban c6 do day
tur 10~85mm
(A

LAP DAT KIEU
XUYEN LO

cho ban c6 do day tur
10~40mm & 16 210~60mm

Néu ngam VESA qué chat khéng thé
nghiéng dugc, hdy ndi léng vit
béng thanh luc gidc




